# 2n-ORDER SQUARE COMMUTATIVE GROUPS WITH n-ORDER ELEMENTS 

## WEICAI WU, XIANGYU WU and RONG XIONG

School of Mathematics<br>Hunan Institute of Science and Technology<br>Yueyang 414006, P. R. China<br>E-mail: weicaiwu@hnu.edu.cn


#### Abstract

We classify $2 n$-order groups and $2 n$-order square commutative groups with $n$-order elements.


## 1. Introduction

The question of finite-dimensionality of Nichols algebras dominates an important part of the recent developments in the theory of (pointed) Hopf algebras. Heckenberger and Schneider [1] prove that if the Nichols algebra is finite-dimensional, then some elements must satisfy the square commutative law. Therefore, we can define a square commutative group similar to an abelian group since the square commutative law is an important operation rule in the algebra field similar to the law of commutation. These results will have an important impact on Nichols algebras and provide reliable examples and approaches for further research of Group theory.

Throughout, $\mathbb{N}_{0}=:\{x \mid x$ is an integer; $x \geq 0\} . \mathbb{N}_{0}=:\{x \mid x$ is an integer; $x>0\} .|G|$ and $|a|$ denote the orders of group $G$ and element a, respectively.

## 2. The Main Results

Definition 2.1 (See [3, Def. 1]). A group $G$ is called a square commutative group if $(a b)^{2}=(b a)^{2}$ for all $a, b \in G$, otherwise, $G$ is called a non square commutative group.

We know an abelian group is a square commutative group.
Lemma 2.2. The greatest common divisor $\left(m+1, m^{2}+1\right)=1$ or 2 for all $m \in \mathbb{N}_{0}$.

Proof. Let $a:=\left(m+1, m^{2}+1\right)$, then there exists $k \in \mathbb{N}$ such that $m+1=k a$, thus $m^{2}+1(k a-1)^{2}+1=k^{2} a^{2}-2 k a+2$. By $a \mid m^{2}+1$ we have $a \mid 2$.

Proposition 2.3. The 2 -order group with n-order elements is isomorphic to one of the following groups:
(i) Abelian group of type (2n);
(ii) $G=\left\langle a, b \mid a^{n}=e, b^{2}=a^{\frac{k n}{i}}, b a=a^{m} b\right\rangle$ for $\forall 1 \leq m \leq n-1,1 \leq k \leq l$ $\leq n-1$ with $(m, n)=1,(k, l)=1, \frac{n}{l} \in \mathbb{N}, \frac{(m-1)}{l} \in \mathbb{N}_{0}$.

Proof. Let $G$ be the $2 n$-order group with $n$-order elements, then $\mid g \| 2 n$ for $\forall g \in G$. Let $a$ denote the highest order element in the group $G$.
(1) If $|a|=2 n$, then $G$ is a $2 n$-order cyclic group, i.e. an abelian group of type $(2 n)$, where $\left|a^{2}\right|=n$.
(2) If $|a|=n$, then $a^{i} \in G$ for all $i \in\{0,1, \ldots, n-1\}$, where $a^{0}=e$ is the unit of the $G$.

There exists $b \in G$ such that $b \neq a^{i}$ for $\forall i=0,1, \ldots, n-1$. By the cancellation law of a group, we know $a^{i} b \neq a^{j}$ for all $i, j=0,1, \ldots, n-1$, then $G=\left\{a^{i}, a^{i} b \mid i=0,1, \ldots, n-1\right\}$. On the other hand, $b a^{i} \in G, \forall i=0$,
$1, \ldots, n-1$ and $b a^{i} \neq a^{j}$ for all $i=0,1, \ldots, n-1$ since the cancellation law of a group, then there exists $m$ such that $b a=a^{m} b$ with $1 \leq m \leq n-1$. Thus $b a^{i}=a^{i m} b \quad$ for $\quad$ all $\quad i=0,1, \ldots, n-1$. If $\quad(m, n) \neq 1, \quad$ then $\quad b a^{\frac{n}{(m, n)}}$ $=a^{\frac{n}{(m, n)}} b=b$, it is a contradiction, so $(m, n)=1$. It is clear $b^{2} \in G$, by the cancellation law of a group, we know $b^{2} \neq a^{i} b$ for all $i=0,1, \ldots, n-1$, then there exists $r$ such that $b^{2}=a^{r}$ with $1 \leq r \leq n$,
(2.1) If $|b|=2 l+1, l \leq 1$, we know $b^{2 l} \in G, b^{-1}=b^{2 l}=a^{r l}$, it is a contradiction.
(2.2) If $|b|=2 l, l \geq 1$, it is clear $\frac{n}{l} \in \mathbb{N}$. We know $l$ and $\frac{n}{(r, n)}$ are the orders of $b^{2}$ and $a^{r}$, respectively. Thus $l=\frac{n}{(r, n)}$, i.e. $(r, n)=\frac{n}{l}$, set $r=k_{\frac{n}{l}}$, we have $1 \leq k \leq l$ and $(r, n)=\left(k \frac{n}{l}, l \frac{n}{l}\right)=\frac{n}{l},(k, l)=1$. Since $b^{3} \in G, b^{3}=a^{k \frac{n}{l}} b=b a^{k \frac{n}{l}}=a^{k \frac{n}{l}} b, \quad$ we $\quad$ obtain $\quad a^{k \frac{n}{l}(m-1)}=e$, i.e. $\frac{k(m-1)}{l} \in \mathbb{N}_{0}$, then $\frac{(m-1)}{l} \in \mathbb{N}_{0}$ by $(k, l)=1$.

Example 2.4. Assume that $G$ is the 12 -order group (not a cyclic group) with 6 -order elements, i.e., $n=6$, then $m=1$ or $5, l=1$ or 2 or 3 .
(1) $m=1, l=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=e, b a=a b\right\rangle$;
(2) $m=1, l=2, k=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=a^{3}, b a=a b\right\rangle$;
(3) $m=1, l=3, k=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=a^{2}, b a=a b\right\rangle$;
(4) $m=1, l=3, k=2$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=a^{4}, b a=a b\right\rangle$;
(5) $m=5, l=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=e, b a=a^{5} b\right\rangle=D_{12}$ a (the dihedral group);
(6) $m=5, l=2, k=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=a^{3}, b a=a^{5} b\right\rangle$ is isomorphic to $\left\langle a, b \mid a^{4}=e, b^{3}=e, b a=b^{2} a\right\rangle$ (see [1, Theor. 5.1 of Section 6]).

Theorem 2.5. The $2 n$-order square commutative group with $n$-order elements is isomorphic to one of the following groups:
(i) Abelian group of type (2n);
(ii) $G=\left\langle a, b \mid a^{n}=e, b^{2}=a^{\frac{k n}{l}}, b a=a b\right\rangle$ for $\forall 1 \leq k \leq l \leq n-1$ with $(k, l)=1, \frac{n}{l} \in \mathbb{N}$.
(iii) $G=\left\langle a, b \mid a^{n}=e, b^{2}=a^{\frac{k n}{l}}, b a=a^{\frac{n}{2}+1} b\right\rangle$ for $\forall n \geq 4,1 \leq k \leq l \leq n-1$ with $\left(\frac{n}{2}+1, n\right)=1,(k, l)=1, \frac{n}{2 l} \in \mathbb{N}$.

Proof. Consider Proposition 2.3 (i) and the case $m=1$ of (ii), $G$ is an abelian group, it is clear. Now $m>1$. Consider $G=\left\{a^{i}, a^{i} b \mid i=0,1, \ldots, n-1\right\}$. By $b a=a^{m} b$, we have $\left(a^{k} a^{l} b\right)^{2}=a^{(1+m)(k+l)} b^{2},\left(a^{l} b a^{k}\right)^{2}=a^{(1+m)(k m+l)} b^{2}$, $\left(a^{k} b a^{l} b\right)^{2}=a^{\left(1+m^{2}\right)(k+l m)} b^{4}$, so $\left(a^{k(m-1)(m+1)}=e, a^{(k-l)\left(1+m^{2}\right)(m-1)}=e\right.$ for $\forall k, l \in\{0,1, \ldots, n-1\}$. Thus $a^{(m-1)(m+1)}=e, a^{(m-1)\left(1+m^{2}\right)} e, n \mid(m-1)(m+1)$, $n \mid(m-1)\left(1+m^{2}\right)$, then $\frac{n}{(n, m-1)}\left|(m-1), \frac{n}{(n, m-1)}\right|\left(1+m^{2}\right)$, we obtain $\frac{n}{(n, m-1)}=2$ since $m<n$ and Lemma 2.2. Then $m-1=\frac{n}{2}$. The other is clear by Proposition 2.3.

Example 2.6. Assume that $G$ is the 12 -order square commutative group (not a cyclic group) with 6 -order elements, i.e. $n=6$, then $m=1$ or $5, l=1$ or 2 or 3 .
(1) $m=1, l=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=e, b a=a b\right\rangle$;
(2) $m-1, l=2, k=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=a^{3}, b a=a b\right\rangle$;
(3) $m=1, l=3, k=1$, then $G=\left\langle a, b \mid a^{6}=e, b^{2}=a^{2}, b a=a b\right\rangle$;
(4) $m=1, l=3, k=2$, then $G=\langle a, b| a^{6}=e, b^{2}=a^{4}$, $\left.b a=a b\right\rangle$.

Proof. Consider Example 2.4. $m=1$, then $G$ is an abelian group; $m=5 \neq \frac{6}{2}+1$, then $G$ is a non square commutative group.

Proposition 2.7. Assumed that $n \in \mathbb{N}$, then the $n$-th alternating group $A_{n}$ is a square commutative group if and only if $n<4$.

Proof. If $n<4$, the alternating group $A_{n}$ is a cyclic group, of course a square commutative group. Now $n \geq 4$, put (12)(34), (123) $\in A_{n}$, $((12)(34)(123))^{2}=(143) \neq(234)=((123)(12)(34))^{2}$, then $A_{n}$ is a non square commutative group.

## Acknowledgement

Weicai Wu acknowledges the financial support from the Scientific Research of Hunan Provincial Department of Education through General Project 19C0860.

## References

[1] M. Artin, Algebra (Second Edition), Addison Wesley, Boston, 2010.
[2] I. Heckenberger and H. J. Schneider, Root systems and Weyl groupoids for Nichols algebras, Proceedings of the London Mathematical Society 101(3) (2010), 623-654.
[3] W. Wu, Square Commutative Groups with Order Less than 12, J. Hunan Institute of Science and Technology (Natural Sciences) 32(2) (2019), 22-24.

